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Cavitron-Final-Model.py (~/Programs/Python) - gedit - o X jesiner@arch: - /Programs/Python - o x

File Edit WView Search Tools Documents File Edit View Search Terminal Help

— 65 48.10606060606067 47.889352947456544
- LY
] Dopen v Dysave | @ | = - Yy OB QQ .66 48.10606060606061 47.893923879348115

b7 48.10606060606061 47.8984083525158045
.b3 48.10606060606061 47.9027944497254
.69 48.10606060606061 47.907089913146009
g 48.10606060606061 47.91131996529462
1 48.10606060606061 47.915459265577766
. 48.10606060606061 47.91951926890446

f !

| |® Cavitron-Final-Model.py
import time

# Central PLC, basal end parameter, distal end parameter, bubble pressure and
suraface tension

center PLC = 50 .73 48.10606060606061 47.923502136874504
a_para = B .74 48.10686060606061 47.92748995877888
b para = 0 .75 48.10606060606061 47.93124475420842
BP - 50 .76 48.10606060606061 47.934492208778344

T 48.10606060606061 47.93742455134441
.78 43.10606060606061 47.940303974894434
.79 48.10606060606061 47.943131852964115
.8 48.10606060606061 47.94598951454862
.81 43.10606060606061 47.94863824568521
.82 48.10606060606061 47.9513192910989
.83 48.10606060606061 47.95395385563182
.84 48.10606060606061 47.95654310857357964
.85 48.10606060606061 47.959088170876086
.86 48.10606060606061 47.96159814485863

surface_tension = 8.15

# range of central tension

KPa_range = range (@,178617,10)

center_tension = []

for 1 in KPa_range:
center_tension.append(float{i) / 1008}

¥ vessel length
vessel_length = 6.25

.87 48.10606060606061 47.96485008714977

% find x with a 1 .88 48.10606060606061 47.966469024114375

def find x(L,ct,bs): .89 48.10606060606061 47.96884795021914
=0 9 48.10606060606061 47.97118782918761
1f (bs * 2 / 0.127 ** 2 -1) * 1006 * ct + 100 + surface_tension > BP: .91 48.10606860606061 47.97348959511085

.92 48.106060606086067 47.975754153514636
.93 48.10606060606061 47.97798238238564
.94 48.10606060606061 47.980068040546534
.95 48.10606060686067 47.981720942674755
.96 48.10606060606061 47.98334826957709
.97 48.10606060606061 47.98495060132637
.98 48.10606060686067 47.98652850105114
1f (abs(judge) < 0.001): .99 48.10606060606067 47.988082515523956
forint iudae 1.0 48.10606060606061 47.989613175726504

Python v  Tab Width: 8 v Ln 17, Col 21 iNs  L[jesiner@arch Python]$

while 1:
judge = ({abs(bhs) - x) ** 2 / 8.127 ** 2 -1) * ct * 10686
188 + surface_tension - 1 / (1 - x) * BP
slope = - ct * 1088 / 8.127 ** 2 * 2 * (abs(hs) -x) - BP *

+

1/ (1 - x) ** 2
% = % - judge / slope
# print judge,slope,x

oo o o xR Qoo o oo o o o o o o Lo o ol o s o s o o sl Ll
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